
4 PM03-02-021 - Blue spacers lg 113mm 

8 NE01-01-001 - Tbhc 6x16mm 

4 NE01-04-002 - Clamped bolt M6 

6 NE01-01-008 - Tbhc 6x25mm 

6 NE01-03-001 - Washers M6 

AX1345 

Yamaha WR250F/450F 

YZ250FX/450FX 

Radiator Guards 

Tbhc 6x16mm Original screws Clamped bolt 

4 PM03-02-021 - Blue spacers lg 113mm 

8 NE01-01-001 - Tbhc 6x16mm 

4 NE01-04-002 - Clamped bolt M6 

6 NE01-01-008 - Tbhc 6x25mm 

6 NE01-03-001 - Washers M6 

AX1345 

Yamaha WR250F/450F 

YZ250FX/450FX 

Radiator Guards 

Tbhc 6x16mm Original screws Clamped bolt 


